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Label the X and Y axis for the following indifference curves (Good, Bad, Neutral)
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a.
b.
c.

UK Y)=X+YY22 iy Px= 8 Py=1 M=20

Muy = T > F Quesr -linear
Convex
Find the optimal consumption of X and Y.

Prove that the demand function for Y from part (a) is a true demand function
Is Y normal or inferior? Is Y ordinary or Giffen? Is Y a substitute or complement?
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2.


5. Taylor is trying to decide between consuming (g)inger beer and (a)lcoholic ginger beer. Each
bottle of ginger beer increases Taylor’s utility by 6 utils, and each bottle of alcoholic ginger beer
increases Taylor’s utility by 8 utils. Taylor’s marginal utility of for both types of ginger beer is
constant. Taylor has $24 to spend, and the price of ginger beer is $3 while the price of alcoholic
ginger beer $4. However, Taylor has 6 coupons for $1 off of the price of ginger beer. Graph
Taylor’s budget constraint with ginger beer on the X axis. Be sure to label all important parts of
the graph (intercepts, slopes, kink points, etc). How much ginger beer and alcoholic ginger beer

does Taylor consume?
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U(X,Y)=X?+Y? Px= 4 Py= 8 M= 24

a. Solve for X* and Y*
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a) Find the Marshallian, i.e. utility maximizing, demands for goods x and y for a consumer

utility given by u(x, y) = mm{ x+1, y} Px = 6,p, = 3,m = 24, and graph a few
indifference curves and the given budget constraint
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b) Find the MRS at the points (6,3), (6,4), and (7,3)
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c) Find the MU,(6,3), MU,(5,3), MU, (6,3), MUy(6 2)
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Which of the following utility equations represent monotonic preferences?

a) u(x,y) =xy
b) u(x,y)=x-y

1
¢ ulx,y)=x%*+ys
d) u(x,y) =$
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